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Absolute Value Equations

Rewrite each of the following inequalities without using absolute values.

1) [x-2|=2 2) [2x-7]=1
3) [4x-9|=7 4) |x=5

5) |4x-11=12 6) |x-1=2

Solve the following.
1) x| =6 2) |4x+7| = -3 3) |2x-6|=0
4) |3x-4| =5 5 |x-3] =6 6) |x| = -4
7) Ix+1 = 2 8) [2x+1| =7 9) |x—]4:2
10)[7.32x + 11)|2.7x + 1.9| = 4.7 12)[5.3x +2.2| = 5.8

0.87| = 2.65
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Solve each equation and check if the answers will make the statement a true
statement.

1) |[x—4|=2x+9|

2) [2.7x-4.3=[1.3x+5.2|

3) ‘—x——
3 8

1 3‘5 7
X

=|— X+ —
12 24

Mathelpers.com Grade 10



file:///H:/PERSONAL%20DOCUMENTS/ONGOING%20PROJECTS/0%20FEBRUARY%202022/1.1%20Book%20Website%20Project/Set%201%20Books/Group%20A/Grade%202%20Term%201/Mathelpers.com

